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Figure for PROBLEM 2.

'}ig.‘pulled downwards with a velocity of vy and an
he vertical thin rod of length /i is m;. The u
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BC‘=horizontaI

Figure 3: Figure for PROBLEM 3.
of two rods linked together, which drive the disk. The disk (mass my)

'tod (AB), of length Ly and mass mg, has a coutrolled angular velocity of w*
on of a* (clockwise). The rod (BC) is of length L, and mass mp,

Jﬂ‘wﬂfeforoe diagram for each component (2 rods, 1 disk)

e or counterclockwise.

1 m a.nd thﬂ angular acceleration of the disk. For each, make
or counterclockwise.

Scanned by CamScanner




|9

unstretched initially

gram and effective force diagram for the assembly (disk-rod-collar

. after release, the angular acceleration of the rod and the reactions a

release, the angular acceleration of the disk,

daﬁennine the angular velocity of 1)the rod and 2) the disk when point I3
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